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Note: -You have four cholces for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will resuit no mark.
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1. | How many hydrogen bonds are present between L 2 3 4
cytosine and guanine? #
Tdajﬁbj;gﬁ.#bffﬁdﬂ;.{l
2, | How many spermatids are produced from each 2 4 6 8
primary spematocyte? 3
3. 4Dl e g K Jo S
After fertilization, ovule becomes: Seed Fruit Flower Legume
Uzl yyrsS S irn Lud b WKL Ui
4, P 16 23 32 46
The number of pairs of homologous chromesomes
in human's body cells Is: ©
5. - ol ae Jr [.jl‘(jj; Ll .Fb’é..r'b' 3 | 4 5 6
Types of neurons on the basis of their functions are: ,
6. - St A S8uts pif frniid i 200 206 300 306
The number of soft bones in newly born baby is: ?
7. Y .r:"._.-lri.- !‘d.yi':'iﬁufalji f i pe e A i) A
Number of nephrons in human kidney is: Two lac , Tenlac Ten thousand | Two thousand
8 S st ls g c'.,-dﬂ")' o A JL?E"-:: 12 24 30 36
How many pairs of ribs are present in chest wall? .
g, Wl A Gl n | 1944 1970 1978 1990
When Human Genome Project was launched? .
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Sir Alexander Fleming discovered: Streptomycin Teramycin Diazepam Penicillin
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All ecosystems of the world together form: Eﬂinsphere Community Ecosystem Habitat
v ETE NN ol 1 SR R J G A
forms the basis of any ecosystem. Pmﬂuuers Animals Sun Water
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